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By a horse which is designated for carrying birds — npph 7m9%7 0102

OVERVIEW

X7°n2 72 ruled that one may sell a horse to a gentile (despite the fact that generally
one may not sell large animals to a >123).! 337> ' said that this ruling of X°na 32 is
in agreement with 1" that mxy nX X1 °nia. The Xn) asked that regarding a person
the 1127 agree with 1"7; why are we saying that X7°n2 12 agrees only with 1"7. The
X3 answered that this statement of 71m° "1 was regarding a horse which carries
birds; in this case the 127 maintain that a bird is not 1%y nX X1, however since 32
X7°n2 agrees with 1", that even a bird 1s 17Xy nX X1, therefore it is permitted.
mooIN clarifies the positions of X7°N2 12 and the 7327.
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When the m1wn stated that 89903 2 permits a horse to be sold, he meant all horses

(even a horse which is not designated for people) -
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And the 3229 prohibit all horses (even those that are used for carrying people,
where the 0°n2n agree that Xy NX X1 °1i), the reason is on account of a horse
which is designated for birds (where we do not say Xy nX Xw1), which is
prohibited, so they also prohibited all other horses for the =z22m did not
differentiate in horses.

SUMMARY
X7°n2 12 permits the selling of all horses and the 7127 prohibit the selling of all
horses.

THINKING IT OVER
Why does n1901n assume that the 3127 prohibit the sale of all horses?

! One may not sell large animals to a ™21 out of concern that we may rent out animals to them. We are not permitted
to rent out animals to a »M31 out of concern that the 121 may work the animal on naw (to plow for instance), and a
YR is prohibited from having his animal work on naw (a PR is 172 NNPaw Sy Angn). However since a horse is
used for riding purposes we are permitted to sell it, for riding on a horse is not a 79891 which is 0" 770K (since °nn
1YY DR XY ).

2 3 " teaches us that we should not think that X7°n2 12 only allows a horse for people (where the o°nan agree that
XY DR RWI), but rather 21 permits even a My? TP D10 because 1"2 agrees with 1" that every °r is M¥Y NR XY

3 We should not think that the 21317 prohibit only an m2w? 7m177 010 (which 87°n2 12 permits) since by animals we
do not say M2y nX XY °r, however by a horse for carrying people they also permit it since by people the oo agree
that MYy NX XW11; however NMooIN negates this approach. See ‘Thinking it over’. See X7% 7"7 &,70 1"y '0n.
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